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Candidates are required to give their answers in
their own words as far as practicable. :
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You must write question-paper series in the circle

at the top left side of title page of your answer-
book. :
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While answering your questions, yoy ,
indicate on your answer-book the same qw_ﬂ
no. as appears in your question-paper.
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Do not leave blank page/pages in your ansee.
book.
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uestion r contains four sections.
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Section-A has 20 MCQ type questions of | mat

each. |
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Section—B has short answer type questions. Eﬂ"ﬂ
question is of 2 marks.
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Section-C has Long answer

_ lype questions. 5"“. )
question is of 3 marks
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Section-D has ope Very Long-answer typé
question, which is compulsory (5 marks).
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Multiple Choice Questions
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Question No. 1 to 20 carries one mark each.

Attempt all questions.

7& 1. FEm&H @ 2 |
- mark |

(#) CaSO,.7H,O (d) CaSO,2H,0
W @) caco, (@) CaOCl,
Each The formula of Gypsum is :

l

o (a) CaSO,. 5“:0 (b) CaSO,2H,0

(c) CaCO, (d) CaOC/,
Each

2. ZnCO; — ZnO + CO,

r g9 % URRtS afeE $4 ? - !
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P @) R s (@) Rreamd s
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nCO, ZnO* CO:

This chemical reaction 1s an example of
(@) combination reaction

(b) double displacement reaction

(¢) decomposition reaction

(d) displacement reaction

3, 43 %@ d FA-W oA WA AAE? |
() MRE o (3) fEleE I
(B) =R I @) ffgs F<
Which acid is present in Lemon Juice ?

(a) OxalicAcid (b) AceticAcid

(¢) LacticAcid (d) Citric Acid

4. memmmﬂmhﬁ
pH #Wa: 7 3y 2 |
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be -

(a) |

with a
soluble
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A solution turns red litmus bluc, its pH is likely to
be -~

@ 1 (b) 4
(e) 5 (d) 10

5. EOM 3%T FH-G1 I Iq B 8 |

() HSO, (@) HNO,
() HC (¥) CH,COOH
Which acid is produced in our stomach ?
(@) H.S0, (b) HNO,
(c) HC! (d) CH,COOH

6. @éaaaﬂmﬂ%wamﬁmmﬁm
mmﬁﬁam%|wﬁmmﬁhﬁa
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An element reacts with oxygen 1o give a compound
with a high melting point. The compound is also

soluble in water. The element is likely to be -
(a) Calcium (b) Carbon
(c) Silicon (d) lron

T-1-905-A (5) [PTO.




T
(3) e (@) AT
@) BEREE @ @ T
Which of the following is an ore of mercury ?
(a) Cinnabar (b) Calamine
(c) Haematite (d) Rock salt
g, UEY ¥ TEAN IOEH & - '
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The xylem in plants is responsible for - |

1(

(a) transport of water
(b) transpont of food
(c) transport of amino acids

(d) transportof oxygen
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An example of homologous organs is
(a) Ourarmand adog’s fore-leg
(b) Ourteeth and an elephant’s tusks

(c) Potato and runners of grass

(d) Allofthe above

Prefafaa § & @9 & Aa9E1 Sa1 @a H
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Which of the following is not an example of a

biomass energy source ?

(a) Wood (b) Gobar gas
(c¢) Nuclearenergy (d) Coal
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Digestion of Protein starts in :

- - ]
(a) Small intestine (b) Stomach

(¢) Oesophagus (d) Large intestine

12, TR a1 g 99 REm e @ e
R @ 0 7 :
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Who formulated the hypothesis that evolution took 1

place due to natural selection ?

(a) Lamarck (b) Weismann

(¢) CharlesDarwin (d) Mendel

13. 9 FA & R o @ oaw R 6
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(1) 10km/h @) 15kmh

®) 25kmh @ 20kmh -
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= "




1ine

jon took

4.

What should be speed of wind for wind energy ?

(a) 10km/h (b) 15kmm
(c) 25km/h (d) 20km/m

HER el F qaQ 41 9 FA-WME ? |
(1) A @) YA
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Which is the longest part of alimentary canal ?

(a) Stomach (b) Small intestine

(¢) Largeintestine  (d) Oesophagus

1s. ffofed 3§ 8 #9-a1 = Rea ofeg 3 R
gfF # Frefa T s ? !
(31) PR (9) IR?
(7)) M (T VR
Which of the following terms does not represent
electrical power in a circuit ?
(a) PR (b) IR?
(c) M (d) VR
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The SI unit of Potential difference IS

(a) Volt (b) Coulomb
(c) Watt (d) Ampere
17. ¥TRA F WAD & l
(31) 1380°C () 1380°F
(@) 3380°F (@) 3380°C
Melting point of Tungsten is -
(a) 1380°C (b) 1380°F
(c) 3380°F (d) 3380°C
18. qﬁmﬁaﬂrn&ﬁaﬁgmﬁmm(ﬁ
FT) Reeit 991 &9 2R I 9 ik R &
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9.

A positively-charged particle ( alpha-particle)
projected towards West is deflected towards North
by a Magnetic field. The direction of Magnet is -

(a) Towards South (b) Towards East

(¢) Downward (d) Upward

Qg 90 IO FE P I B} Fed & -
(3N Sf= @) =T

@) T @) T

The device used for producing electric current is
called -

(a) generator (b) galvanometer

(¢c) ammeter (d) motor

et gra @ gl F R 1
(31) 50 Hz (d) 100Hz

() 200 Hz (%) 1000 Hz

The frequency of alternating current is :
(a) SO0Hz (b) 100Hz
(c) 200 Hz (d) 1000 Hz
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| A positively-charged particle ( alpha-particle)
projected towards West is deflected towards North
by a Magnetic field. The direction of Magnet is -

(a) Towards South (b) Towards East
(¢) Downward (d) Upward

9. 9T 90 IO A H P B e & -

() A= @) FendeT
1 @ TR (3) AT
The device used for producing electric current is
called -
(a) generator (b) galvanometer
(c) ammeter (d) motor
N. geEd 9ra # Sgh I E l
- (31) S0Hz (d) 100 Hz
[-5'5‘ (9) 200H=z (7)) 1000 Hz
| The frequency of altenating current is :
(a) S50Hz (b) 100 Hz
(c) 200 Hz (d) 1000 Hz
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Short Answer Type Questions 4
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27. @
Why should a Magnesium ribbon be cleaned before -
burning in air ? £
22. I F Fad fAwga 7@t faga @ aed C
% 9 2 ! 9
| | P
Why does an aqueous solution of an acid conduct ;
28. [¢
electricity ? ‘
23, TR o X v A P A e !
What is the role of acid in our stomach ?
2. T @ R T T § dEt @ e o
g
Fe1 A WHEA & ? H gan & T8 ! 1
- t
Can the wings of butterfly and wings of be 29,
be considered as homologous organs ? Why why .
not ? T*lqg(
T-l*%ﬁ—!\ ( 12 )

—




Hf,

L

R

25.

27.

o v B Fed B 7 2
What is a good fuel ?

T g9TF & S0y [ FE 7 [T Fa
t?

On what factors does the resistance of a conductor
depend ?

2

oF 92 § 50 Vv Rwaat & 96000 FH @A
F WEENG FE T IO FE BT
FITT | 2
Compute the heat generated while transferring

96000 Coulomb of charge in one hour thrnugh a
potential difference of 50 V.

8. R RgE MM AU FA @ 8 7 2

When does an electric short circuit occur ?

que-1
Section-C
i Ity 9=

Long Answer Type Questions

9. 7@ A A F B A A @ e § g@
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Why does the colour of Copper Sulphate solution

change. when an iron nail is dipped nit?

0. AR R AR Fq EA@r g 7 3

How is the sex of child determined in human

beings ?

3. §-H AR F ¥ FA 2 7 9 7 A& A
. fogm afEt @ g-doiE s w= SEwEE

27 .

What is the function of carth wire 2 Why is it

necessary to earth Metallic appliances ?
qvs-g
Section-D
it & sl aw (sifrar 7
Very Long Answer Type Question

(Compulsory Question)




Differentiate between metals and non metals on the

basis of their chemical properties.
HIGT/or
i oM Weat R g afE o9
T da FHERE wre @t 3@ g @
a1 FE 8 ?

Explain the underlying principle and working of an

electric generator by drawing a labelled diagram.

What is the function of brushes in it ?




